December 5, 2019

1. What is the equation of a line parallel to 9x + 3y = 15 and

goes through the point (-5, 6)? --
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2. What is the equation of a line perpendicular to 9x + 3y = 15
and goes through the point (-5, 6)?
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Circumference

Diameter

Ratio C/D

Circumference Conjecture:
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In Exercises 1-4, leave your answers in terms of 77. == &XGC\' OJ\S(A:V‘
1. If r = 10.5 cm, find C. 2. If C = 257 cm, find r.

C=atr C:29Y(
’QUD'SW&W 29I i
3. What is the circumference of a cirsg whose 4. What is the diameter of a circle whose
radius is 30 cm? circumference is 247 cm?
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In Exercises 5-9, round your answer to the nearest 0.1 unit. Use the
symbol =~ to show that your answer is an approximation.

5.1fd = 9.6 crz‘ﬁnd C. G.éfC = 132 cm, find d and .
C=1 § 132
=9LT ~802cm %"A '%“'d

7. A dinner plate fits snugly in a square box with perimeter 48 inches.

What is the circumference of the plate? ,LI
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